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4, Match the Venn
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5. Rewrite the Two-Way Table as a Venn Diagram using the diagéam provided, and then answer
the following questions. (6 points)
A 12 Piefced [Not pierced|Total
Male 36 144 180
Female| 2 2 2
144 ke _ 88 3 320
2%3 Total 3%4 176 500
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a. Whatis the probabmty that a randomly selected individual
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c. What is the probability that a randomly selected person from the sample is both male and
has pierced ears? (5 points)

36
500

d. What is the probability that a randomly selected person from the sample is either male or
has pierced ears? (5 points)
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e. Isbeing genﬁler and having pierced ears independent? Why or why not? Show a calculation
to illustration your conclusion. (7 points)
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You choose a card from a standard deck of 52 cards.
a. What is the probability that the card you chose is a queen? (5 points)
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b. Whatisthe (Trobability that the next card you choose is a jack if you are still holding the
queen? (5 paints)

P ]

Sl

Five blue marbles, ten red marbles, seven yellow marbles, and eleven black marbles are mixed
together in a bowl.
a. Whatisthe lrobability of selecting a red marble, a black marble and then a blue marble? (6 points)

0,0, 5, 25

b. What is the probability of sélect]ng a green marble? (3 points)

0




Bonus:

8. We have 11 people running for four positions for a club: president, vice president, secretary and

treasurer. How

many different ways can these positions be filled? (4 points)

NP4 = =920

9. When calculating the number of passwords available, would you use the multiplication rule,

permutations orjcombinations? Explain. (5 points)

pulliplicatoon nde (hepeldons oo ollnwed )

10. Thirty-two women graduate students sign-up for a room-sharing program at a conference to
help defray costs of attending. How many different ways can the first room be assigned if four
women are assigned to each room? (5 points)

B2C4 = 35,960

11. Calculate the value of the following expressions: (2 points each)

a. 13P5
b. 81C14
c. 12!
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